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1.  what is the total no of parts of speech? 
            a)8                                  b) 9 
            c)10                               d)11   
2.  My mother is reading ………………news paper. 
            a) tomorrow                b) yesterday             
            c) today`s                      d) today  
3.  She is …………………in the garden. 
          a) Run                              b) running                  
          c) walk                             d) walking. 
4.  My house is as ……………… as your house. 
           a) big                              b) biggest                    
           c) large                           d) largest 
5.  I have ……………………one rupee coin. 

      a) a                                    b) an                             
      c) the                               d) none of these 

6.  Opposite of “ Clean”. 
        a) faithful                         b) good                       
         c) dirty                             d) broad  

        
 

 Ifj{kk dk fu/kkZfjr le; 60 feuV gSA 

 Izk’u i= esa 50 iz’u fn, x, gSaA lHkh iz’u vfuok;Z gSA 

 izR;sd iz’u 2 vad dk gksxkkA 

 ewY;kad.k fuxsfVo ugh gksxkkA 

 lElr tkudkjh dSfiVy ysVj esa HkjsaA 

 mRrj iqfLrdk (tksfd bl iz’u&i= ds lkFk nh tk jgh gS) ij vuqdzekad ,oa uke lkQ&lkQ fy[ksaA 

 d`I;k bl iz’u i= ij lgh dk fu’kku yxk;saA 

 izR;sd i= dks i<dj ^lgh fodYi* dks mRrj iqfLrdk esa fn;s x;s xksys (A/B/C/D)dks HkjsaA 

 mRrj iqfLrdk esa lgh mRrj ds xksys dks fuEu izdkj ls HkjsaA 

 xksys Hkjus ds fy, isu dk iz;ksx djsaaA 

 ,d iz’u esa ,d ls vf/kd xksys Hkjus ij og mRrj fujLrj dj fn;s tk;sxkA 

 mRrj iqfLrdk esa Dykl okys dkSye esa ml Dykl dks fy[ksa ftl Dykl esa vHkh i< jgsa gSaA 

 

TOTAL MARKS—100                                                          QUESTION—50                                                                        TIME—1HR 

 

7. Synonyms of latter 
      a) now         b) exact          c) neat          d)  afterwards  
8.  Synonyms of “wrongly”. 
      a) exact        b) later           c) incorrectly    d) flat    
9. Synonyms of Definitely            
      a) Certainly      b) neat       c) broad         d) incorrectly       
10.  I will go to …………………..  Cricket tomorrow.   
       a) playing       b)played      c)plays           d) play 
11. I need a pencil please give me………………. 
       a) any             b) one           c) same         d) a pencil 
12. There are not ……………… people here. 
       a) much         b) many         c) a lot          d) some 
13. My neighbor is …………….honest person. 
       a) a                 b) an               c) the            d) any 
14. ………………Dog is a faithful animal. 
       a) a                 b) the              c) one           d) an 
15. I am getting good grades …………… I study every day. 
       a) or                b) yet             c) because    d) but  
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16.  an examination of 80 marks. If a student got 
80%marks. What is the marks obtained by him? 

      (a) 80      (b) 74         (c) 64          (d) 54 
 
17. Today the present age of father is 49 which is 7  
times to that of his son then what is the age of his son? 

       (a) 5          (b) 6            (c) 7           (d) 8  
 
18.If a tree is planted at a distance of 1 metre each         
then find the total no of trees that can be planted            
up to distance of 250metre. 
           (a) 51        (b) 52         (c) 53          (d) 54  
 
19.What is the total no of 1 that comes between 1 to100? 
           (a) 21        (b) 22          (c) 18          (d) 19 
 
20. 13.45+2.8+0.999=? 
          (a) 24.752    (b) 17.452      (c) 15.742     (d) 12.574  
21. 2.5x2.5=? 
          (a) 6.25      (b) 5.25       (c) 4.20        (d) 625  
 
22. what will be the interest on a sum of Rs1600? If the              
rate of interest is 5%. 
          (a) 70           (b) 80         (c) 50           (d) 60 
 
23. 15x12 =? 
         (a) 130          (b) 150       (c) 180        (d) 110 
  
24. 0.8x0.8x0.8x0.008=………..? 
         (a) 0.40246                                 (b) 0.004096  
         (c) 512                                         (d) 0.0512 
 
25. -1+1x4=……? 
         (a) 1              (b) 0            (c) -3          (d) 3         
 
26. 2.5/0.5=……….?  
         (a) 0.005     (b) 0.25        (c) 5            (d) 10         
 
27. 3x0.3x0.003x30=?  
         (a) 0.243                        (b) 0.000243     
      c) 0.00243                    (d) 0.000024317 
 
28.6202.5+620.25+62.025+6.2025+0.62025=?  
          (a) 6891.59775                (b) 6891059               
          (c) 689115.9775              (d) none 
 
29. (2+2/2) +1 = ? 
          (a) 3            (b) 4             (c) 7            (d) 2 
 
30. Find the area of rectangle whose breadth is   
          4cm and its length is twice the breadth. 
          (a)16 sq cm                     (b) 8 sq cm  
         (c) 32 sq cm                     (d) 20 sq cm 

16. +80 ekdZ dh ifj{kk esa 80% ekdZ feys rks ifj{kk esa 

fo|kFkhZ dks fdrus ekdZ feys gSa\  

    (a) 80      (b) 74         (c) 64          (d) 54 
 

17. vkt firk dh mez 7 xq.kk gks dj 49 gS rks cPps dh 

mez fdruh gS\ 

      (a) 5          (b) 6            (c) 7           (d) 8  
 

18. gj 1 feVj nqjh ij 1 isaM+ yxkbZ tkrh gS rks bl 

izdkj 250 ehVj yacs varjky ij fdrus isM+ yxsaxsA 

      (a) 51        (b) 52         (c) 53          (d) 54 
 

19. 1 ls 100 rd esa vad “1” fdruh ckj vkrk gS\ 

        (a) 21        (b) 22          (c) 18          (d) 19 
 
20. 13-45+2.8+0.999=? 
          (a) 24.752                              (b) 17.452    
          (c) 15.742                              (d) 12.574  
 
21. 2.5x2.5=? 
          (a) 6.25      (b) 5.25       (c) 4.20        (d) 625  
 

22.  5% dh O;ktnj ls 1600: jkfl is dqy fdruk 

O;kt gksxk \ 

     (a) 70           (b) 80         (c) 50           (d) 60 
 

23.  15x12 =? 

         (a) 130          (b) 150       (c) 180        (d) 110 
 

24. 0.8x0.8x0.8x0.008=………..? 

         (a) 0.40246                                    (b) 0.004096 
         (c) 512                                         (d) 0.0512 
 

25.  -1+1x4=……? 
         (a) 1              (b) 0            (c) -3          (d) 3         
 
26. 2.5/0.5=……….?  
         (a) 0.005     (b) 0.25        (c) 5            (d) 10           
 
27. 2.5/0.5=……….?  
         (a) 0.005     (b) 0.25        (c) 5            (d) 10           
 
28. 6202.5+620.25+62.025+6.2025+0.62025=?  
          (a) 6891.59775                (b) 6891059               
          (c) 689115.9775              (d) none 
 
29. (2+2/2) +1 = ? 
          (a) 3            (b) 4             (c) 7            (d) 2 
 
30. vk;r dk {ks=Qy Kkr djsa ftldh pkSM+kbZ  

   4 lseh gS vkSj bldh yackbZ pkSM+kbZ dh nksxquh gSA  
        (a)16 sq cm                     (b) 8 sq cm  
         (c) 32 sq cm                     (d) 20 sq cm 
 
 



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

31. Who is the first woman Prime Minister Of India ? 
       a) Sarojini Naidu            b) Pratibha Devi Singh Patil       
       c) Soniya Gandhi            d) Indira Gandhi 
32. Name the Deepest Ocean In the World? 
       a) India ocean                 b) pacific Ocean        
       c) Arctic ocean                d) Arabian Sea 
33. Aizawal is the capital of which state? 
       a) Sikkim                 b) Nagaland   
       c) Mizoram                      d) Manipur 
34.What is the  total no of Union Terretory(UT)of India? 
       a) 7    b) 8           c) 6              d) 9 
35. How many colours are there in Rainbow?  
       a) 8  b) 7           c) 6     d) 5 
36. Where is Gir National Forest Located? 
       a) Kolkata                         b) Gandhi Nagar    
       c) Gujarat                         d) Assam 
37. When is “Hindi Diwas” celebrated in India? 
       a) 5th Sep    b) 2nd Oct         c) 14Sep         d) 15 Aug 
38. Which is the longest river of Asia?  
      a) ganga                             b) Yamuna        
      c) bhimanadi                     d) ovanadi  
39. who was the first women president of India ? 
      a) Indira Gandhi             b) Pratibha Tai Patil     
      c) Soniya Gandhi            d)Mayavati 
40. Which is the brightest planet of our solar system ? 
      a) venus                 b) saturn   
    c) jupiter                d) mercury 
41. with which country does India share its  
      maximum boundry ?  
      a)Nepal                  b)Bangladesh   
    c) pakistan              d) china  
42. which ocean is named after a country? 
      a) Pacific                 b) nf{k.k       
    c) Indian                 d) Atlantic 
43. who had established the Nalanda University ? 
      a)samudraGupt               b)chandraGupt    
      c)kumarGupt             d) harshVardhan 

44. How many zeros are there in one Billion? 
       a) 9    b) 6           c) 7       d) 8 
45. what is the Roman Numerical for 50? 
        a) MM    b) L            c) DD        d) XXXXX 
46.  Which country started the Olympic Game ? 
       a) Greece     b) Japan.      c) China        d) India 
47. who was Doraemon’s best friend in the TV cartoon? 
       a) Nobita     b) Jian   c) Suneo        d) Shizuka 
48. What does Motu Love to eat in the cartoon 
      Motu-Patlu 
      a) rasgulla     b) Ladoo      c) Jalebi d) Samosa 
49. who is the Governor of Jharkhand ? 
     a) Hemant Soren              b) Narendra Modi  
     c) Ramesh Bais           d) Mithilesh Thakur 
50. what is the Total no of district in Jharkhand? 
     a) 24              b)20                c) 18  d) 12 
 

 
 
 

 
 
 

 

 31 + Hkkjr dh izFke efgyk izz/kkuea=h dkSu Fkh \ 

    a)Lkjkstuh ukbMw       b) izfrHkk nsoh flag ikfVy 

    c)Lkskfu;k xk¡/kh           d) bfUnjk xk¡/kh 
32 + fo’ o dh lcls xgjh lkxj dkSu lh gS \ 

    a)fgUn egklkxj            b) Izk’ kkar egklkxj              

    c)vkdZfVd lkxj            d) vjc lkxj     

33  +,stoky fdl jkT; dh jkTk/kkuh gS \ 

    a)flfDde                  b)ukxkySaM  

    c)fetksje                   d) efuiqj 
34 + Hkkjr esa dqy fdrusa dsanz’ kkflr izns’ k gSa \ 

    a) 7    b) 8           c) 6              d) 9 
35 + bZanz /kuq"k esa dqy fdrus jax gksrs gSa \ 

     a) 8  b) 7           c) 6     d) 5 
36 + fxj jk"Vªh; ou dgk¡ ij fLFkr gSa \ 

    a)dksydrk              b)  xk¡/kh uxj 
    c)xqtjkr                d)  vle    

37  fganh fnol dc euk;k tkrk gS \ 

    a)5 flrEcj              b)2 vDVwcj  

    c)14 flrEcj             d)15 vxLr   

38  +,f’ k;k [kaM esa lcls yach unh dkSu lh gS\ 

       a.xaxk    b.;equk    c. fHkekunh     d. vksokunh  

39 + Hkkjr dh igyh efgyk jk"Vªirh dkSu Fkh\ 

       a) banhjk xka/kh            b) izfrHkkrkbZ ikfVy   

    c) lksfu;k xka/kh           d) ek;korh  
40 + lcls pedus okyk xzg dkSu gS? 
        a)’ kqØ     b)’ kfu      c)eaxy      d)cq/k 
41 Hkkjr us lcls T;knk Hkq flek dkSu ls ns’ k dks nh;k gS\ 

       a)usiky   b)caxykns’ k    c)ikfdLrku   d)phu  
42 +tx esaa dkSulk egklkxj gS ftldk uke ns’ kij j[kk   

   x;k gS\  

         a)islhQhd   b)nf{k.k    c)fgan    d)vVykafVd 

43 + ukyank fo’ ofo|ky; dh LFkkiuk fdlus fd;k Fkk \ 

       a)leqanzxqIr    b)panzxqIr   c)dqekjxqIr  d) g"kZo/kZu  
44. ,d vjc esa fdrus thjks gksrs gSa\ 

     a) 9     b) 6                c) 7         d) 8 
45.  50 ds fy, jkseu la[;k D;k gS\s  

         a) MMM     b) L                 c) DD        d) XXXXX 
46. vksyfEid xse dh ’ kq:vkr fdl ns’ k us dh\ 

    a) ;wuku     b) tkiku     c) phu      d) Hkkjr 

47. Vh +oh +dkVZwu esa Mksjseksu dk lcls vPNk nksLr dkSu   

   Fkk\ 

    a) Ukksfcrk     b) ft;ku     c) lqusvks     d) f’ ktqdk   

48. dkVZwu eksVw&iryw esa eksVw dks D;k [kkuk ilan gS\ 

    a) jlxqYyk     b) yM~Mw     c) tysch    d) lekslk 

49. >kj[kaM ds jkT;iky dkSu gSa\ 

    a) gseUr lksjsu             b) ujsunz eksnh 

    c) jes’ k cSl                d) fefFkys’ k Bkdqj 

50. >kj[kaM esa dqy fdrus ftys gSa\ 

    a) 24              b)20                c) 18  d) 12 
 



 

 

 

VANDANA COMPUTER 

PATEL NAGAR BHURKUNDA 

RAMGARH-JHARKHAND-829106 

CONTACT NO 6206740416 


